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Please make sure that the printed pages in this question paper of Part-II are 8 in
number and it contains 40 questions.
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Candidates must write(@ir Roll-Number on the question paper.
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Before answering the questions, ensure that you have been supplied the correct and
complete question-paper, no claim in this regard, will be entertained after
examination.
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General Instructions :
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All questions are compulsory.

5611/(Set : B)/ I P.T.O.

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

(2) 5611/(Set : B)
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Questions from 1 to 40 are objective (Multiple choice/fill in the blanks/true-
false) type questions. Each question is of 1 mark. Write correct answer in
your answer-book.
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Choose the correct alternatives of the following multiple choice type questions :

1. ‘ordsme & f4srd’ (Principles of Economics) % @@ ? : 1
(A) e (B) Het
(C) weH Rag (D) SgareEH
Writer of 'Principles of Economics' is :
(A) Malthus (B) Marshall
(C) Adam Smith (D) Samuelson
2. A fHET a0 99 ;&8 7 1
(A) T e (B). THRe ST
(C) uEss fod (D) FHHd FE=
The Price Theory is kno&@@s :
(A) Microeconomic @ (B) Macroeconomics
- > .
(il) Public Fmg& (D) Price control
3. i % s W@ e B 1
(A) HEE gEA | (B) R aegeti ©
(C) SirsaT aeh agel W (D) 39 a9 a&gali W
The law of demand applies to :
(A) Normal goods (B) Giffen goods
(C) Articles of distinction (D) All of the above
4. W % G F RN, T AN I V-9 & FAARR SN 1
(A) TR B) T
(C) 3HE q A (D) 3HE 9 A
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When demand curve is parallel to OY-axis, then price elasticity of demand is :

(A) Unity (B) Zero
(C) Less than unity (D) More than unity

5. 99 JEd IR ol 8, a9 HENT IR 1
(A) ol IARA % I BT 8 (B) oNed IqmeT ¥ iy &ar ®
(C) NEd 3T q HH B ° (D) I B @
When average production increases, marginal product is :
(A) equal to average production (B) more than average production
(C) less than average production (D) zero

6. 9 TF HRAN 9% @ HEd PRl B, 99 36 9N 1
(A) ¥ B uRgaw W@l g (B) Hedl B
() w3 (D) FH & HR T
When the price of competitive good falls, its supply :
(A) does not change (B). falls
(C) increases (D) none of these

7. Pt Refet & W@Q*”IM% ECE 1
(A) 99 AR 9% W& 8L (B) ¥4 AR HT Tl &
(C) & AR ﬁa%a\\g (D) S a4 Refeat d
Under which @the following conditions MR can be negative ?
(A) When AR is increasing (B) When AR is decreasing
(C) When AR is constant (D) In all the above conditions

8. fawa wem=l % a¥ ? : 1
(A) 1927 (B) 1929
(C) 1931 (D) 1936
The year of World's Great Depression is :
(A) 1927 (B) 1929
(C) 1931 (D) 1936
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9. TEIR HIFT AR AET AT S TROM & HA & ST BNl © 1

(A) Y& BT (B) STHUEE DX
(C) o Tera (D) & I H
The basic difference between the concepts of market price and factor cost is:
(A) direct taxes (B) indirect taxes
(C) subsidiaries (D) net indirect taxes

10. UF AMNE §% 98 9% ¢ : 1
(A) N <TEpToie RO AT © (B) N @ & fmior &ear ®
(C) ST STEUhRI ROT T 8 (D) ST
A commercial bank is bank that :
(A) gives long term loans (B) creates credit
(C) gives short term loans (D) All of the above

11. Syl ISR S i oraen | ¢ 1
(A) FaT HAT Tod o

(B) axgalt oiX Fawslt & wae ¥ A o gfg Foh o B

(C) FHA@ WM AETH T q a1f B @

(D) IYHT Gl g\@

In a situation of (@ull employment equilibrium :
(A) prices alo&& ise

(B) there is 1% increase in flow of goods and services

(C) aggregate demand is more than necessary full employment

(D) All of the above

12. IR MPC =1 ¥, @ 1% & : 1
(a) I (B)
(C) & (D) 3
If MPC = 1, then multiplier will be :
(A) Zero (B) One
(C) Two (D) Infinity
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13.

14.

(5) 5611/(Set : B)

SRl B H I8 @ 1
(A) TN & FHE faaXer (B) &0 ¥ &

(C) BI+HR® STAN W Hfa=e (D) ETH ¥ Hig 7ol

The objective of progressive taxation is :

(A) equitable distribution of sacrifice

(B) addition to taxes

(C) restriction on harmful consumption

(D) none of these

Fr=faftad & & fopeel @R a<paq (W) § s 7ef o St ? 1
(A) Qe H ARE-fE

(B) &l a9 & Hed AN SR AT & A

(C) et ERT fear mr @

(D) SY a4l

Which of the following is not included in balance of trade ?

(A) Import-export of services

(B) Payment of interest %& dividend among all countries

(C) Expenditure by @ ists

(D) All of the abo@

W?Jﬁ?‘#ﬁaﬁm@ﬁ

Fill in the blanks with appropriate words :

15.

16.

i YET B HET TG T A BRE B AT A e, Rt (d=, fRmEe) 1

If the price of petrol goes up demand of cars will be ............. . (contract, fall)

A HFa 7§ IRadT 89§ HF I T HE GRGAT AT &, W AT e, SICIR
Bt ¥ (502, w0 | BW) 1

Elasticity of demand is .............. if change in price does not result in any
change in total expenditure. (unitary, less than unitary)
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17. € AT AR IRIHNT AT & T ... § X U I 51 (STeue, dH) 1

Difference between fixed cost and variable cost is found in ............... .

(short-period, long period)

18. A 9T ..o T w9g B (iR, qot SfcRifE) 1

Price discrimination is possible under ................ .

(monopoly, perfect competition)

19. i, % FEET THRE LA H I B (ST, w@ HET ®R) 1

Problem of ............... is the example of macroeconomic studies.

(unemployment, price level of the firm)

20. Y TR § T & T oo TR & g B M B A B 1
(v, wezrerii)
To avoid double counting, value of ............... goods'is taken into account.

(final, intermediary)

21. TET & g A CRI] (cerer, goa) 1
Main characteristic of m IS4t . (liquidity, solidness)
\\‘@
22.w&ﬁwwmﬁ@%ﬁw ............... e R (safe, factr) 1
Accepting deposi gs the «o..o....... function of commercial banks.

@ (primary, secondary)
23. AFR & JOIEE] BER & AL oo, T HH ST B 1
(AT TSR Ffer, o1 SR E=er)

According to classical theory of employment ............. is a normal situation.

(less than full employment, full employment)

1 1
. TR B A = . ,
24 (1 - MPC MPCj
I 1 1
Value of multiplier = ................ . (1 Vel MPC]
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25.

26.

(7) 5611/(Set : B)
I G > FA MM = oo (e sTe, e 1 Se)

Total expenditure > Total receipts = ................ .

(surplus budget, deficit budget)

AR TGAT H BAT v TS g (399, or5) 1

Balance of trade includes only .............. items. (visible, invisible)

=it weT @al & ar T, FEy -

State whether the following statements are true or false :

27. WM 9% # HFd 7 gha AT F gha F HROT S 2 1
Rise in price of substitute goods is the cause of increase‘in demand.
28. I AN Tl AER B 8, A aE B lH L B ol 1
Co-efficient of elasticity is zero, when demand is perfectly elastic.
29. DN H IUESH Hl BN &l & Gehelll 1
A producer cannot su%é@ss in short period.
30.Tfsrﬁiﬁ1ﬁwﬁ\i@§wﬁtrréaﬁ%| 1
Selling costs %§§ under perfectly competitive market.
31. @i e e FHRS ST | Hi3 g T o 1
There is no relationship between micro-economics and macro-economics.
32. WY A B I9q a1 g F e S 1
Disposable income is divided between savings and investment.
33. I, AT 1 9 & N7 &l T AR Fed 2 1
Aggregate of rent, interest and profit is called operating surplus.
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34. e Rerar @i Wit G sl & 3899 &l 1

The objective of government budget is to achieve the state of economic

stability.

35. ‘HU Th &L P Bl 1
'Tax' is a legal payment.

36. SUR TeH 09 APEA il o, od (i, T 8 e B Bl 1

Balance of trade is favourable when exports exceed imports.

37. TH TH T8 & Bl 1

Income tax is a direct tax.

38. T, AW B 9 RadHl $ Feresy o 7 &N A URade H AU o 1

The multiplier is the ratio of change in income due to change in investment.

39. FA AN I FA YN B FHMA B T F f IS g 2 1

Unemployment is pos%l‘ki@ even when aggregate demand is equal to aggregate
supply. (§)

W
40. Wﬁﬁqwmﬁm% 1

In India, the Central Bank is Reserve Bank of India.
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